ey, i? -
! @ Multiplique decimais por poténcias negativas de dez

Nome: Encontro: Data: Pontuagdo:
7586, 8 x 0.001 = 8026,7 x 0.1 =
5601, 4 x 0.0001 = 2897,6 % 0.001 =
2517,6 % 0.001 = 9801 x 0.01 =
4026,9 x 0.001 = 1980,3 x 0.1 =
8325,8 x 0.01 = 3803,1x0.001 =
3725 % 0.0001 = 3323 x0.1 =
1331,5 % 0.001 = 2755,1%0.0001 =
2563,6 % 0.001 = 9121,6 x 0.01 =
5479, 3 x 0.001 = 9836, 6 x 0.0001 =
3477,6 % 0.1 = 8309,4 x 0.1 =
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NeY, ﬁﬁ -
! @ Multiplique decimais por poténcias negativas de dez

Nome: Encontro: Data: Pontuagio:
7586, 8 x 0.001 = 7.5868 8026,7 % 0.1 = 802.67
5601,4 x 0.0001 = 0.56014 2897,6 x 0.001 = 2.8976
2517,6 % 0.001 = 2.5176 9801 x 0.01 = 98.01
4026,9 x 0.001 = 4.0269 1980, 3 x 0.1 = 198.03
8325,8 x0.01 = 83.258 3803, 1 x 0.001 =3.8031
3725 x0.0001 = 0.3725 3323 x 0.1 = 3323
1331,5x0.001 = 1.3315 2755,1 x0.0001 = 0.27551
2563, 6 % 0.001 = 2.5636 9121,6 x 0.01 =91.216
5479,3 x 0.001 = 5.4793 9836, 6 x 0.0001 = 0.98366
3477,6 x 0.1 =347.76 8309,4 x 0.1 = 830.94
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